PRODUCT-DETAILS

9ADA183-34
Hexagon Bolt, M8 x 12mm

53 \‘\:T}}t;“
Q% uw”'} )

-~

General Information

Product ID
ABB Type Designation

Catalog Description

9ADA183-34
M8x12mm
Hexagon Bolt, M8 x 12mm

Additional Information

Medium Description

Hex.Soc.Cap Screw M8X12

Technical Information

STEEL 8.8 FE/ZN 8C*M8X12 Hex.Soc.Cap Screw

Product Type Control_System_Accessory

Ordering

Country of Origin Sweden (SE)
China (CN)

Customs Tariff Number 85389091

Dimensions

Product Net Weight 0.01 kg

Environmental




9ADA183-34

WEEE Category

Product Not in WEEE Scope

Where Used (as a spare part for "Products")

Identifier Description Quantity Ml::stu?:
3HAC022288-001 No Description Available 1 piece
3HAC020536-003 No Description Available 1 piece
3HAC020536-005 No Description Available 1 piece
3HAC020536-011 No Description Available 1 piece
Where Used (as part of "kit")

Identifier Description Type
3HAC022235-005 Lamp unit kit Kit
3HAC022483-001 Material Set Lower arm Kit
3HAC022483-002 Material set Lower arm (Int. MH) Kit
3HAC022483-003 Material Set Lower arm, MH external Kit
3HAC022483-004 Material set Lower arm (Int. MH) Kit
3HAC023750-001 Assembly kit for UL-lamp Kit
3HAC024041-001 Material Set Lower arm Kit
3HAC024827-001 Material Set Lower arm, MH external Kit
3HAC064267-018 Top plate for dual table Kit
3HAC064267-019 Top plate for transfer Kit

Product specific part data

Product

Robot Part Location

Robotics Part Category

3HAC022288-001
3HAC020536-003

3HAC020536-005
3HAC020536-011

Base and Frame

Parallel Rod
Lower Arm

Base and Frame

Base and Frame

Misc Parts - Fitting/Gasket/Washer
Misc Parts - Fitting/Gasket/Washer

Misc Parts - Fitting/Gasket/Washer
Misc Parts - Fitting/Gasket/Washer

Categories

Control Systems

Robotics — Robots — Articulated Robots — IRB 2400 — IRB 2400
Robotics — Robots — Articulated Robots — IRB 260 — IRB 260
Robotics — Robots — Articulated Robots — IRB 4400 — IRB 4400
Robotics — Robots — Articulated Robots — IRB 660 — IRB 660

N
;@ & \W\\}‘ “
Yz



